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Your winter vacation is approachlng and your uncle who lives in Australia is
coming to Bangladesh. Now write a letter to your uncle and convmce him to
take you to an exciting tour to St. Martin’s Island. : 5

Fill in.the gaps with appropnate amcles/preposutlons/by using correct form of ~1x5=5

RS o honour to this profession.

My uncle joined...........cco.e. air force.

We played cricket after the rain............ (stop).
Ldiffer; s you on this point.

More than one dress........... (be) required.

Arrival ( write antonym)

Relevant ( write antonym)

Ring (write past participle)

Freedom (write synonym)

Curiosity (Write adjective form) .
Translate into English: ' ‘ 1x=5
‘Y IO FAIGIY ?

S QAT AP THE TR |

RETIC B@a i Fiee tew sRfEs |

1 2] S @ BT WF FANG MRS P AP Al |
e. TS AR PE SR |

a
b
¢
d
e
Answer as per instructions given in the brackets: 1x=5
a
b
(c3
d
e

aoow®

If you were to choose to swim like a fish or fly like a bird which one would you 10
choose and why?
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1. Who was the first presndent of Bangladesh? Where was his hometown’? Can you 5
© name some other persons who belong there?
2. Fillin the gaps with appropriate articles/prepositions/by using correct form of verbs: 5
a He I8z USA citizen.
b My grandfather had........... open heart surgery.
-C. There is an exception.......... every rule.
d It is many years since I.......... (meet) my friend.
e You ........(see) her lately?
3. Answer as per instructions given in the brackets: 5
: a Safe (write antonym)
b Ensmy (write synonym)
¢ Usefui (write antonym)
d Steal (write past participle)
e Length (write the adjective)
4. . Translate into English: 5
a. el e e A
b. fofir vy 3w $RZ 99, 79 ATFS |
c. & TR Oy S o B8 v was )
d. A AT wA e < 7l TR e |
e. 12 W1 CoTH PRI SR ST |
5. What is your favourite school memory? Whaf was special about that day? 10
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Section-A: Bangla (30)

faraprs <3 sy S Afmy e |

C L el FAGIATFT T P AT
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I Sy 4

a. The life of a student is a life of preparation.
b. Walking is the best exercise.

(o Reading book is a good habit.

d. I am very fond of collecting stamps.

@

a Knowiedge is vaster than ocean.
=Idhe = ferars

VTS, Sy, e erares 24, o e |

qrerral @ gl Tece J gy Swizaews |

Section-B: English (30)

Some people visited your school from Bangladesh Fire Service and Civil Defense.
They discussed what people should do during an earthquake. Suppose your
Geography Miss has asked you tc make a leaflet on that. Now make the leafiet.

Fill in the gaps with appropriate atlicles/prepositions/by using right form of verbs:
a. Myunclelives in............. UBA.

2. Wehad.......... good breakfast. :

c. We should defend our country...... ... all attacks.

"> S SR (take) dinner just now.

e. ltweas along time sincewe.......... (leave) the country.

Answer as per instructions given in the brackets:
Capable (write antonym)

Agree (write antonym)

Salesman {write plural)

Host (write feminine)

Deep (write its noun foim)

so0ow

Match the parts of sentences from column A with those of column B to make five
sensible sentences:

Column A Column B
Grandma cried as she i. and watered the plants.

The painting seemed iii. went through the old photo album.
Peter bought flowers iv. to get sick.
Skipping meals caused her | v. as Mother's Day present.

vi. as it is winter,

sap oo

|
?
Jane used shovel E ii. to have something missing.
|
|
;
i
|
|

If you were an anima! living in the jungle which animal would you choose to be? Give
reasons for your cheice. '
1
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1x5=5
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Section-C: Mathematics {40)

The sum of four numbers is 468520. The first two numbers are 73584 and 64209. The

third number is smaller than 9485 from the first number. What is the fourth number? 5
A man gives 0.1 portion of his monthly income as a income tax. He spends 0.5 portion

of rernaining income to maintain family and rest amount of income he deposits in the

bank. His monthly deposited amount is Tk. 6750,

A, What is his moenthly salary? 2
b, What is his total annual cost to mainiain his farmily ? 3
©. On July his monthly salary is 1.5 times of his present salary then what is his annual
income in that ysar? 3
ihe average age of Opu and Dipu is 22 years. The average age of Dipu and Tipu is 24
years. If the age of Opu is 21 years then-
& What is the difference between the ages of Dipu and Tipu? P
b, What is the average ages of Opu, Dipu and Tipu? 3
c. After 7 vears, what will be the sum of the ages of them? 3
Draw a parallelogram where the measurement of its one angle is 60°. 4
in a family of 12 members, there is a stock of food of 42 days. After 9 days one
member went out. How marny days will be continued with the remaining food? 5
Answer the following guestions in brief : x10=10

2. Whatis called the necessary instructions of a computer?

b.  What is the sum of the 10% of Tk. 100 and 90% of Tk.10 ?

5. What will be quotient if the smallest number formed with the digits 9,8,0,2,6 is divided
by 2047

d. I a smallest number is divided by €, 10 and 15, then we get remainder 4 every
time. VWhat is the smallest number?

¢ Jamil and Rahim get ; and-z; portion of a fixed amount of money respectively.
Jamil gets Tk. 200 more than that of Rahim gets, what is the total amount of
money ?

f At arate Tk. 60.60 per dozen, A man buys some oranges by Tk. 393.90, then he
divides aranges among 13 boys. How many oranges get everyone?

3 7 i |
9 24l owhat?
4 8 12
h. 9.3.50,!)0359_.0004 = \What ?
0.01%0.002

i, Whatis the actual difference between rectangle and paralielogram?
i Which country is the lowest populated country in South-Asia?

2
EZAM SECRET



[

EXAM SECRET

RAJUK UTTARA MODEL COLLEGE
Admission Test- December 2017
Class-VI (English Medium-Day Shift)

Time: 02 Hours (All Questions are to be answered on the answer script) Full Marks:100

Ot
81

Y|
%1

Section-A: Bangla(30)
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Section-B: English (30)

Your close friend loves to eat fast food and has grown very fat. Write a letter advising 5
your friend to have balanced food from your knowledge of Food Pyramid.
Fill in the gaps with appropriate articles/prepositions/by using right form of verbs: 1x5=5
a. We are looking for........... apartment.
b | went to Australia in........ July.
G | am convinced........... his honesty.
d. You had better....(go) home.
e Inot..... ....(do) my home work yet.
Answer as per instructions given in the brackets: 5
Balance (write antonym)
Efficient (write antonym)
Commander in Chief (write plural)
Emperor (write feminine)
Comfort (write its adjective)
Match the parts of sentences from column A with those of column B to make five 5
sensible sentences:

Column A Column B
Rita made the dough i. shared their toys.
Sam broke his leg ii. to bake the biscuits.
The two sisters always iii. ready for bed time stories.
Mrs Smith finally iv. and had to sit during match.
After dinner, Bob was v. found the right party dress.
vi. to feed the birds.

What is your favourite way to spend a weekend? Write all that you would do from the start to the 10
end of the day.

®Pao0ow

o0 o
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Section-C: Mathematics (40)

Answer the following questions in brief : 1x10=10

a. What kinds of device are key-board and mouse?

b. What s the chord of circle?
If divisor is 36, quotient is 15 and remainder is 9, what is the dividend?
The sum of age of father and son is 120 years. The age of father is four times of his
son. After 10 years, what will be the age of father?

€. The price of a pen is Tk.8 and the price of a Khata is Tk.24. How much money will
be required to buy 6 pens and 3 khatas?

f.  The average of five numbers is 72 If the sum of four numbers is 305, what will be
fifth number?

g. What will be the difference between the total days of last 7 menths and first 5
months of Bengali months?

h. How mény prime numbers are there from 1 to 207

i. What is the angle between the two diagonals of a rhombus?

- In the figure, ZA = What ? A

B (o8
110° 100

The sum of the price of 6 chair and 9 table is Tk.8700. The price of 1 chair is Tk.400.
a. How many table can be purchased by Tk. 3500.

b. How much greater of the price of 8 tables than price of 5 chairs.

¢. What is the total price of 10 chairs and 15 tables?

The price of 1 quintal rice is Tk. 4200 and 1 quintal= 100 kg. How much rice can be
obtained from Tk.8400.

The sum of the present ages of mother and daughter is 75 years. The age of mother is 4
times of the age of daughter.

a. How many times of the sum of the present ages of mother and daughter in terms of
the age of daughter?
b. What are the present ages of mother and daughter?

c.  What will be the sum of the ages of the mother and daughter after 6 years?
Write down the difference of parallelogram and Trapezium with necessary figures.

One student obtained 68 marks in Bangla, 96 in Mathematics and total 154 in Science
and Religion. What is the difference of average marks of first three and last two subjects ?
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